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EN—43—2017
FACULTY OF COMMERCE
B.Com. (Third Year) (Sixth Semester) EXAMINATION
OCTOBER/NOVEMBER, 2017
MANAGEMENT ACCOUNTING—II

(Tuesday, 10-10-2017) Time : 10.00 a.m. to 12.00 noon
Time—2 Hours Maximum Marks—40
N.B. .— () Attempt All questions.

(zi) Figures to the right indicate full marks.
(z11) Use of simple non-programmable calculator is allowed.
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({ii) | -G HeR[elel STavde YLl 3118,
1. The following Balance Sheet relates to Ashtvinayak Co. Ltd. : 10

Balance Sheet
(as on 31st March, 2017)

Liabilities Rs.
6% Preference share capital 3,00,000
Equity share capital 5,00,000
General Reserve 40,000
Profit and Loss Account 30,000
5% Debentures 2,00,000
Sundry Creditors 56,000
Bills Payable 24,000
11,50,000

P.T.O.

B2AB85BB697EEDC5BBF8B984CEQ9C586



( 2) EN—432017

Assets Rs.
Land and Building 5,00,000
Machinery 3,50,000
Furniture 60,000
Stock 1,80,000
Sundry Debtors 42,000
Cash at Bank 18,000

11,50,000

Other Information :

Total sales Rs. 8,00,000 (20% of which is made on credit). Gross Profit and
Net Profit (after tax) for the year ended amounted to Rs. 1,60,000 and Rs.
40,000 respectively.

Assuming 360 days in a year.
Calculate :

@) Current Ratio,

(1) Debtors Turnover Ratio,
(zit) -~ Proprietary Ratio,

(tv)  Stock Turnover Ratio.

Wrefiel feordt-foar erefommes ol fa. s getia e .

Rerfa-faazor
(31 ©r=E, 2017 Tsi=)
ot z.
6% TAIfTRR ¥R e 3,00,000
THEAT AW gEad 5,00,000
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40,000
30,000
2,00,000
56,000
24,000

11,50,000

B.
5,00,000
3,50,000

60,000
1,80,000
42,000
18,000

11,50,000

TR fat 8,00,000 T (YR 20% IUR fasl AR), ThA AW I I AH (I

IS S@AT) gute SEdt sH 1,60,000 T ST 40,000 . TR

avid THY 360 feaw TR e,

AN {0 ¢

@) el AU,

(i) ¥HU SAEd STIUM,

(iii) @A ST,

(iv) ~ThY EC STIIME.
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Calculate the trend percentages from the following figures of Subodh Ltd.

taking 2012 as the base : 10
Year Sales Stock Profit
2012 18,810 7,090 3,210
2013 23,400 7,810 4,350
2014 26,550 8,160 4,580
2015 30,210 9,440 5,270
2016 37,680 11,540 6,720

oy .= el oo sTehearasd 2012 § SMYRas ied 964 Tal wfae (Jad
STUE) D T HY :

L) et TheT TR
2012 18,810 7,090 3,210
2013 23,400 7,810 4,350
2014 26,550 8,160 4,580
2015 30,210 9,440 5,270
2016 37,680 11,540 6,720

Or
(feram)

Rohit Co. Ltd. furnishes you the following financial statement. You are required
to prepare common-size income statement :

Trading and Profit & Loss Alc
(For the year ended 31st March, 2017)

Particulars Amount Particulars Amount

(Rs.) (Rs.)
To Opening Stock 1,50,000 By Sales 15,00,000
To Purchases 9,00,000 By Closing Stock 1,75,000
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To Administration Exp. 1,25,000
To Selling Exp. 1,50,000
To Financing 25,000
To Depreciation 75,000
To Provision for Tax 50,000
To Proposed Dividend 50,000
To Net Profit 1,50,000
16,75,000 16,75,000

TR & T, 7 e Treltel foxita faexor 96T sl 37R. JRlell | 37K Sca-
foeRol TR SEa 3T -

HUR T ATHATH @m
(31 W=, 2017 ASH FUUTT aEie)

feraur Tgehn  faerur TehT

(%) (%)

URYU &Y 1,50,000 ot 15,00,000

TR 9,00,000 T ThY 1,75,000
PRSI D 1,25,000
fast == 1,50,000
ot == 25,000
&I 75,000
TR 50,000
AT AT 50,000
IS T 1,50,000

16,75,000 16,75,000

P.T.O.
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Saraswati Company is desirous of expanding output, and is considering the
purchase of a machine. Machines A and B are available, costing Rs. 4,00,000

each. A choice is to be made between two machines. Earnings are estimated

as follows :
Year NPV of Re. 1 Cash flows
at 15% A B
(Rs.) (Rs.)

First Year 0.870 1,00,000 80,000
Second Year 0.756 1,20,000 1,50,000
Third Year 0.658 1,50,000 1,50,000
Fourth Year 0.572 1,50,000 1,50,000
Fifth Year 0.497 1,30,000 1,50,000

You are required to ascertain the more profitable machine. Use discounted
cash flow method. 10

T YHSs ScqIeH aT@ shivgreal faeaRid 3T), o Akl il Tk I3 e
IR, A o701 B 3R <9 o3 Sy WA YS! fRAEd 4,00,000 F. AR A1 TF
TAH! Toh A TR, AURE JEyHn 3= e omg

s 1% o 15% hE TG yarg
gET qau T A B
(®.) (®.)
qfger ol 0.870 1,00,000 80,000
TR Tu 0.756 1,20,000 1,50,000
faR =l 0.658 1,50,000 1,50,000
=g e 0.572 1,50,000 1,50,000
LIEERCL| 0.497 1,30,000 1,50,000

S Y QU Il fee . 3TUgd YEYdre Ugd oTad.
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Or
(fenam)
You are given the following figures relating to Ajintha Ltd. Jalgaon for
2016 :

Items Budgeted Actual

(Rs.) (Rs.)
Sales 75,000 90,000
Direct Materials 30,000 37,500
Direct Wages 10,500 7,500
Administrative Exp. 10,500 15,000
Finance Exp. 3,000 2,250
Selling Exp. 7,500 10,500
Total Costs 61,500 72,750
Profit before tax 13,500 17,250
Tax 3,000 3,750
Net Profit after tax 10,500 13,500

Prepare Responsibility Accounting Report for the profit centre showing there-
in variances from budget in absolute figures and also percentage form.

AT fa. Seemma 3 M9 2016 A1 ST AIfEd] el JEmor oot STe

L EHERECTR] PRt

(%.) (%)
IEED] 75,000 90,000
Joae ATl 30,000 37,500
et SRl 10,500 7,500
PRI EERCE] 10,500 15,000
foxia @ 3,000 2,250
famt w= 7,500 10,500
R IR 61,500 72,750
HAYATAT TH] 13,500 17,250
ETy 3,000 3,750
AR e T 10,500 13,500

oRIe Ao T hadl SWRNIE TEhH 3TgaTd TR e d Jgul Fer=
9 Jfded TEudia o= (variances) ©3ial.

P.T.O.
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4. Prepare an estimate of working capital requirement from the following
information of a ‘Sujata’ trading concern : 10
@) Annual Sales 3,00,000 units
(1) Selling Price Rs. 24 per unit
(zii)  Percentage of net profit on sales 25%
(fv)  Average credit period allowed to customers 8 weeks
(v) Average credit period allowed by suppliers 4 weeks
(vi)  Average stockholding in terms of sales requirement 12 weeks
(vii)  Allow 10% for contingencies.
@rel! feeiea TRt gorar’ SRl ST Hifgdiee STeRdd STIHI RSN iead
g eI
@) ek forkt 3,00,000 T
Gi)  faspt fohwa 24 T. wha
Gii)  Toaspt =i fesies TR wfera 25%
(v)  TTEHMAT W HI0I STelell SURIE TEd hrera 8 TS
(v)  IECRRMT H=Idl fooia U=l SEd s 4 TS
i) TahT=a TETIhaIaR T Y YRV Haas 12 3f3ere
(vii) ~ HHH EEEE 10% W,
Or
(feram)
Write short notes on :
@) Advantages of Ratio analysis
(1) Responsibility Accounting.
dresrd fear fermr .
@) AU faversrE wEe
(i)~ STeTEER .
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